H £ 0l & AFHSH & Ml A

02448 =0ile LESIH SUS

A sSUS
g sUs A3l
ciel: BE=XHEH WASY U BIALKE (crol: @)
SA - BH - SRI(B) - MRAR - BAS Of v e HIDEY
SUs 402,422 335,452 66,970
SUS At 336,082 269,152 66,930
AI=SXNME A= & BoANEXE 166,272 141,672 24,600
TR =2 107,700 93,700 14,000
201 &Er=23E| 21,300 15,300 6,000
01 AtR2teltl 21,300 15,300 6,000
OdlE2g dit+=ZH| 6,300,000 6,300
Ofd=g 50,0002 «25E = 1201 = 15,000
301 EtE2 s 86,400 78,400 8,000
11 dALEBIXIE S 3,000 3,000 0
O=F2UAXAHE /& & XX
2AsH(13]) 100,0008 %259 2,500
O=QNXEZZ2IY 2 500,000& 500
4 JIEt2 8= 83,400 75,400 8,000
OZ A=< 83,400,000& 83,400
FUEIAIEXIE 52,972 47,972 5,000
201 Er=23E| 45,272 45,272 0
01 At 2tel8l 8,872 8,872 0
OBARIRHINAL 8A2
185,000&* 122 1,860
OFAF HHS A4 1,900,000 1,900
OF=I1(1th) & SI13EI1(30H) Sx=
1,920,000& 1,920
Ol gxtz 23,0002 =20+ 123 552
O=gJl ¥ Zele 82
220,000+ 12 2,640
02 =324l 36,400 36,400 0
OXt&s bl (20H) 7,000,000 7,000
OAtS A 2te|H| 2,300,000& «12& 27,600
Oded] sAZelb(ME S)
1,800,000& 1,800
203 BR =& 2,700 2,700
03 AIH=NHRFAH] 2,700 2,700
OsUsS SHLFAHFA
2,700,000& 2,700
405 THAHF S 5,000 5,000
01 MMM ESFHSHI 5,000 5,000
O=HUIIAIAE F 5,000,000& 5,000
S M2IHH SEdat 5,600 0 5,600
301 Et2 NS 5,600 5,600
11 ALEBIXIZ S 5,600 5,600
OAt2lEN &3 A5
140,00024 40 5,600
SclgrdEs=2y 169,510 127,180 42,330
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